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What is the area of a circular region whose diameter is 12 cm.?
A. 144n cm® B. 36m cm? C. 24n cm? D. 12n cm?

What is the area in square feet of a triangle whose base is 18 feet
and whose height is 20 inches?
A, 360 ft? B. 180 ft? C. 30 ft? D. 15 ft?

What is the volume in centiliters of a 5.25-liter bottle?
A. 5250 ¢l B. 525 ¢l C. 52.5 cl D. 0.525 ¢l

The amount of wall surface that can be covered by the contents of a
can of paint is given by which measure?
A, gallons B. liters C. feet D. square feet

Calculate the sum of the measures of the interior angles of an
eight-sided convex polygon.
A. 1440° B. 1260° C. 1080° D. 1000°

A patio is to be built of concrete. The base of the patio is to be
a slab of concrete 15 feet long by 12 feet wide by 6 inches thick.
If one cubic yvard of concrete costs $39, how much will the concrete
for the patio cost?

A, $3510 B. $1560 c. $130 D, $65

A fence that costs $6.50 per yard is to be placed around a
rectangular yard that is 90 feet by 120 feet. What is the total
cost of the fence?

A. $7800 B. $2730 C. 81365 D. §910

What will be the cost of carpeting an office that measures 12 feet
by 15 feet if the carpet costs $12.50 per square yard?
A, $2250 B. 3750 C. $650 D. $250

A tent is being set up with a 12-foot pole in the center. Four
pieces of heavy-duty rope are to be attached from the top of the
center pole to points on the ground that are 9 feet from the base
of the pole. What is the total length of the four pieces of rope?
A. 60 feet B. 50 feet C. 45 feet D. 15 feet

The owner of a rectangular piece of land 12 yards in length and 9
yards in width wants to divide it into two parts. He plans to join
two opposite corners with a fence. The cost of the fence will be
approximately $40 per linear foot. What is the estimated cost for
the fence needed by the owner?

A. $27,000 B. $2520 C. $1800 D. $1260
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